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Update

Fixed bug regarding the number of photons in SiPMs. There is some proportionality
between the number of photons in SiPMs and deposited energy.
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1k muons, 120 GeV, BGO
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1k e+, 10 GeV, BGO

N_scint_C
htemp
— Entries 1000
- Mean 6.123e+05
30— Std Dev 1.889e+05
25—
20—
15—
10—
5/
0 }H ’_|_r||_‘ 1 | | Hl [1 4 ><10:3
0 200 400 600 800 1000
N scint C
N_scint S
htemp
— Entries 1000
L Mean 5.872e+04
— Std Dev 3.105e+04
50 —
a0
30—
20—
10
0 HIJ—lﬂH_\ﬂ | ‘I’l\ \l‘\\l‘\l‘h L m \X103
0 50 100 150 200 250

Ecalo

Ecalo

6000

5000

4000

3000

2000

1000

o

Ecalo:N_scint_C

t

600 800

Ecalo:N_scint S

1200
N_scint_C

6000

5000

4000

3000

2000

1000




Wrapping, 100% reflectivity

6.123*10"5 = 6.47*10"5
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e Optical Filter

e Optical Grease(?)

e Storing measured photon energy

* Missing Absorption Length for BSO
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